INTERNAL ASSESMEMT TEST - 2.
'DE‘.SIan °) RC Shuctural Elerments
Octoben . Qo1 g

b‘j Vibha N . Dalassci

ﬁ‘::; Soluh'on —
@.l.*':blm_en_slgn: b« 3c0mm, Y420, dl-’SOmm, Ded e d! i sl
» ENebu kngth 2 62w . =1
* load tateutation : DLtLL =43 Enlm g 104 = b1 .15 h&[m 02
*BE_&_S_P? Flo = 104,06 En-mo SP = g6.81 o 02
* Chetg for depth ! d = 362.13m £ dpows °!
7 Chuk for SechHon T Mutim = 126.96 €N - = M >
#* Ast I 850.82mm”
o2
Astrin < | 88,43 mn?
Dytmog = 104 Rmm* }Ol
no.cjp-ﬂ'c 3 83 oL led o\
-A‘Ekpsouid.- =z IUDSmrn)' o\
* ®L3codti‘“¢3 . =
Q3.|1* Dimension? u‘l-{'x. g,
Lfd . b-toomm, d'= 3omm, D=
¥ E|jehiw Gngth * ‘-11)1)-"- ol
+ toad Colwudghon® v
> Ml & SF 2 02
% ChotK po dupth * ol
- 02
d w . ‘i::r:nln- —Dishibukion Steel — -
Spadins : moln St 02
¢ Bishbut Stul.
-As*Pm:
o

A Ok Loy O haort

Scanned with CamScanner




Rlueshoy]

I’zum‘ou

Solubion

9.3

Dimen sion, bt = 2186. 6mvn-
D=-9500mm -

Gllediwe gty Lyy= A 2m.

load coleulabiont W = 29.2 vnlm

Wu= 42.68 '(—l\llrr)

SF &MU: nu‘: 2‘:‘6.0‘6 m-M.
-_-_-__-_-_-_—

Yu = 199.4 3N

C“““-K" Lot clephh |

Chew pov Seckon® ™Mulimit = 100311 Mpa -

—

mub‘-‘- 126,71 Mpa .

Ast ol alobion:  Astz 60T Hhimnd.

Astpnin = 2065 .50mm”

Psimox = A3TS2 mm?

no. Cb#\c = 5 no-

Sheon ¢ Uy = \.-l% Mpe .
ZC.: 0._[ SC\, ‘qPD. -

Cheu< E’-’J v

Sy = 280 mm ele .

Chek Lor defledion s 15.5 <16.

Scanned with CamScanner

oK.

':N'.-l.l"\ on-.




/
-‘-‘-‘-‘-‘-‘h‘-‘_‘-“_‘—'—-—_
“5 6Lum: f - 6m
Wwer - 12 N/m
{—Lhz a5 MFa ;

}6* q1¢ MPa.
ﬁigﬁl; '-fs,rx_ua dumend uen s

L. = g
a

d : 300 mm 4+ 100mm =2 00 mm

B4 cume d"ﬁOmm

. Ds A50mm

MAMLfume b 8200mm

Atepa: Latuad &ta&;ﬂﬁa

6ob » 60X 2%0 <2200

950b? , §50x 230" | 23069.C

d 400

Heps %,gﬁam LU\@UV

DR L 4+d s 64004 s bbm

aQ‘L,L»ri/zts tY,ts> 6+ 023 +0.23 v B85 o

9

Q.(%L 6227”)

2

Scanned with CamScanner



Mﬁoaﬁﬂa&w@ w;

'DL:bXD)(Sz 0.22X0.48 X228 « J.C 3 2Ny
LL > 12 W/

Totad  load W+ 4530/ m
Ww = las3xl.§

™

= 81.3F d/m

Ateps: BM and SF

Mu « Wl . Q1.3% b 2%
3 8

106 .10 kAd.m

2

VLL 5 l;Ou.Q g &\.37"’( .23 " G Q.12 oAb
2 2

dh—myj Wt ,Jy (06 10% 10°

o»az.j—de_b 0128 x30kJ30

dhuyz LO% .32 mm dz410mm .

%Lo.mﬁ wa[t,%&zfj

{,dr,b
\06,\()&10",0.341141(%&;{410 Y § = mesaoxlr‘ .

Scanned with CamScanner



b .\omoe . |Lhg03%0.5 ML — 32.57F e

. 004bD - 0.04x230KX weD ¢ Lhlaomm?

ML vt
Bl men * M‘_— <085 KQIQ;OKLHO 1A%, (5 it
i .
Bk 292 mm *
w\komb#‘c . M . %1 » by =6 No¥
Ty . @
O npuiie. BEF Lo vt 55 w nton Kled

lHM&QE& LRR

450 mm
‘ L
ok
7
bm /
L

1} 0

Q QA Al =

5 16mm § MPIN BRR

Scanned with CamScanner



2 DQS%T’ 5 BG a3kl guPPwle(J sl Ca%Bm. Lie loag

aLLfna s ak/\.)/mz ahcl He f{oom aof’nst fs 0.6 14"‘]/”?:

Uee Mo gwée (onc(e:{e o gvocle slee(.

G ven -

,Oax,: 3m
93 : bm
90 kol="

aﬂé - NS k
0.6 le Q[ m?

‘(’.\'t.‘::
"
"

EF =

Puda = ‘JVN/m‘l‘

= B wo slob .

c[?mens?ons.

" l-"- % m

2000 _ 9o x/-3

; cl: 115.38mm 4 120mm

e
—

GI': 90 mm
oe d4d’ o slio 480 KOTT

Slae =t Eaffec[lve le"‘SHL

Q: L“'t/g“ls "{‘\/aJCS
0 - 2000 + MXSEO -+ [/:1?‘930

Scanned with CamScanner



- mm :
o 290 \

® L+d =1
) - 3000+ MO = F=3i -AHO

g = BIHO mm

—_—
3 930
- ﬂ s 3%:8‘6 mm
——
Sl - assume b= 1w
S‘CP 4‘ LOUCL C&[‘J [& . .

____________.---'

- = .| 9 Xl = 2.8 WAl
by = Pead bad = o x€xb =04 X .S

. = Line load, = A XV = au,—azlﬂ,w
== - 6 kW m?®
Cloow Jentsh onslob - 0-6x1\ = o
= ol wokin loud = 6.1 | m
Clep Q)
v emale louc! _E q ’__\:'5 \MJINJ

g_‘EE.“ ) (@ehdfﬂg moanL =Y SLQM {Poa«ce.

—————

_ 5 9
Muz ol QUISX23B | 11.93 |-

3 3
\/L\‘.‘_ Wa L - Cl.lSXB.aB - \).1,1’1 \er) =
: 9

Step 6 C heale Pir_ C]GP‘H')

Ma.= 8038 Lk bd”
11.93x& 0-138 X 20 Xlobox ¥ao d*

a#&i Gg:::'“i mm 2 A?‘_odd = 190mm Hence §c,.fe,

Scanned with CamScanner



1! A__'jrecu of S\LG&(.

— ————

M= B-E% ‘Pﬁ Ad 4 ( ?23__4_)
k bd

1. qg-ﬂ@ 89 X41S x Ast X 190 ( _ RIS Al
X 10 20 X 10006y )3\07

AEA_ = 33q~38 mmz

Spou:,fng - T X0®
A

4% .88

Z 9to0. 19 mem

A.SJ( 'PY y T 2
0\1?1 - l Xto

—
—

Sl-ee I- C:_L:Qc(« (?0\‘ Sheco!
o = Vo o 98iswe M Hixio3

= e X180 = 0.197% t\!/,
PL= Moot g0 S6o.aq
b d 1606 X 199 O A_;E g
'—CC, = Pl
G- N 6. 50 -
2 o- 4
0-36 O0.98

0-38 o 6. 50

CO-46 - 6.95)

s Ak o O-"‘E“O‘?’G)
Ce C (o-50 -0-9¢)

Te = 0-46 [fmm®

Scanned with CamScanner



Cy = O\g- & Z’C, T 0O.46

. Mon thewr  ~efnfosice ment cloll be

Provodde d .

slep cheal. Doy cle“glad»foh.

(Lé)c,&[ow :L(/c{)bng HYKX}? _ B3x.Ra

e——

kL/)C\LLu&L: -—-_..21‘;30 ‘ﬁlcggg;. DO !

\Q/ac‘* aaq:w@ - €323
)/[Laﬁ:m’ble" %’Wﬁ’

kt/c,‘.)(r{'bue&b-[e 35_4“%_&_9{—}—-,(——1
(\@) Mowbte = F5=83

(Lé)acluak = (5 )a lbwble

HQY\CQI Sﬂ-fe.

Scanned with CamScanner



Di‘-:[atﬁmw

s g (O
dox = Qo mpa Wely

MI-LNW': lDuJ'.SOQ
Sdep © '-
W Py e 27 4 34
i % nodiep
d = F000 _ =256 D>  B50+100 = HSO wwm
&O —

\303': HRXJ.UYM = 300 wim

D - d'\"dt = HE6 + 30 = HRO mwm
Qdep @
by = L+d = Tooo+ HSO = THSO wmm
' E—

Jy¢ = oo Spam A+ Lithedonen ) Seppsd v Yy thickmee § sopes!

= 000 + - X300 + Jg X 300
= .:i[300 Y\ v

-—

_——

Dq:( & 360 ww

e

Scanned with CamScanner



Sﬂ:" ¥g wo . 34

shy s M b w6
_ 300 4 300t 6(150}

by - 9936 - 66

=

g clc dede blw  Hlibats) -
i by - 2900 ww

—_—

. b-f = 3&36‘ g6 e

_ sqax 32Xes = T ko [w
ek - box (v~ D) x| ‘
- o.3x(o.ng—o-lﬂ %25 = $% kniw
¥ |m
Pling = 06 %32 = 1.98 kol
3.9 N7 knlw
o bead = REX
> ) - &%C“‘l kNlW
Vil -4 = S
- 1.5 = Kh3.HL kalw
8 W = WwxXLS = 98.94 X
o @ bq X (73) 6 knlw
! o My- bl o kZXES) - 989
‘ 8 8 ——
Wy - Wuly . k3 XI3 - 158.HR Kelw
a 3 ——
sep @

My = oa36 4k By by (4— %)
63E ¥ 80 X 130 X I3£.66 (Hs’o "'I'%?’)
Hu.f = q53. 66 Rn-m

e——

fo = M ﬂ&@a&oﬂ@a&aw.

Scanned with CamScanner



e = OB% Qe B d
- 0.138 X 26 x 923¢-¢¢ >'((Lr5<t))a
bdin = 1350.06  kn-wm

' bpdl. e
‘ his x Ad
4 so (1- ______—————->
QRS = 68T X HSX b x H ( ey
M - \ @56 - 35 mm
= 60w
Qparrens dis bodw
i, Q i 1850.33 _ 58% Y £ wo
asUy = T, B 5 |
e & %X&a T%{Xao e
6.6 X 8O = HIAH3Z me
is oM b D = OOHXAWS
Ay Mo = O { Ll
L Qoutde  HF b T éomfmgf dn Tenawlon Zgae |
3
Ad = X T Y26 = 1884 .43 m
(osend K
g&o.p@‘.d}gk Sheaon ' -
e W e S5 HHX\O T
d 300 X K50 .
Oy - oo (Rdg) _ wox 1gRnAs -
T 200%X500 @ o———

Scanned with CamScanner



Shep @ -
Hlﬂ%@i}\\mydﬂmj %w@ g;‘g

. wxY8 = 801.06 mm
APRINE }/
\esdlin) - Shtsuupf _ s Qg e @
'} Vus = V¥, - bd Te
|53 qy0G ~ 300X HEOX 567
= 61990 m™
N p.87 XH1S X 30t 04 XH50
o0.8% ~P ey d- =S LF8, = z,
Vo Sy
Qs = H8G-HE ™M™
&e v =
Spam - 200 wm ™.
g> 8 6.9 X RSO = 33=§_,S ™ Y
% 0-%S xd =
W B INS = ?f:’{ @ 2060 mm C/C
siep @ M—Weﬂ - .
- 5. 58 ° :
L , 00 s 15 " m‘
T (odua?) hso = -
PRACLS S S U <_l____3_*3 ——
-Pl 2 O% Ad pray \88H 95
Faova Ps.m).h
- RaE o K= 0.3, Ke = | .D
| = S oo b ot B
1 . Fo00 X LAXDR XD = [7:¢ e o 4 )
S @ U e

Scanned with CamScanner



i - ‘\. o 8™ .‘.
L o 0 @ L\
e sl ) amriT
flbucss
- o _Internal Assessment Test 1l - Oct. 2018 - B
Sub: | DESIGN OF RC STRUCTURAL ELEMENTS \ Sc‘l"’ | 15CVsi 1 Branch: | CIVIL 3
= - S . - — — co
] , i __T'_'_ o [ e
Date: \ils;ln.rl{)\h \ Duration: \ 90 min’s \ Max marks: \50 \ Sem/ 5TH SEM/A & B ‘-
- - - - -— S . o S s il PO C—— U P r  "SPS.. — _'_,__SCC. —— e — — -
Niots \IUse of is 456:2000 is permitted
Assume any missing data suitably
\ Answer all the three full questions ' \ MARKS \ CcO RBﬂ

Design the longitudinal reinforcement for the beam of clear span 6m to support a design
1 () | working live load of 12kN/m. Adopt M25 grade concrete and Fe 415 HYSD bars. Also (151 cCo4| L3

Show the detailing of reinforcements.
\ 2 (a) \ Design a RC slab snnply supported of 6m X 3m. Live load acting is 2kN/m’ and the \ 1s) \ co4 \ 1 \

floor finish is 0.6 kN/m® Use M20 grade concrete and Fe 415 prade steel.

A T beam slab consists of beams spaced at 3.2m center to center. Thickness of slab is
& 120mm. live load on slab is 4.6 KN/m?. The beam has a clear span of 7m wall support is 20 cosl 13
3 (a) of thickness 300mm. design an intermediate beam for flexure and shear. Sketch the 120]

reinforcement details.
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